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	Developing Task Answers

Task 1
12 = 1, 2, 3, 4, 6, 12.
20 = 1, 2, 4, 5, 10, 20.
17 = 1, 17
28 = 1, 2, 4, 7, 28
112 = 1, 2, 4, 7, 8, 14, 16, 28, 56, 112
64 = 1,2,4,8,16,32,64

Task 2
7 = 1, 7
11 = 1, 11
17 = 1, 17
23 = 1, 23
47 = 1, 47

They are all prime numbers.

	Reasoning
Explain your answers.
1. 10, 6, 2
 
2. 5 and 2 and 1

3.  7 and 3


	Problem solving
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Pairs of factors @

Find the factor pairs.
There are several pairs of numbers in each set which multiply to

give the target number. Write the pairs. Example: 2 x 30 = 60

r® *=® @

2 x 30,3 x 20, 2 x 18,3 X 12, 2 X 24,3 x 16,
4 x 15,5 x 12 4 x9and6 X 6 4 x 12
and 6 x 10 and 8 x 6

Complete these divisions.
4.52+-4=13 6.54 +-3=18 8.39+-3=13 10.95+5=19
584 +7=12 7.96-12=8 9.54+-6=9 11.81+ 9=9
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The possible
lengths are: 2, 4,5,
8,10,20 and 40
cm.
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Dora could have 1,
2,4,816 or 32
friends.




